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Bl TE BT 37 |39 | 76 |50 |710
B AW 5B 40 |42 |82 |70 750
3 @Il =ik 41 | 44 | 85 [100 750
4 BW B 41 | 44 | 85 [100 750
5 |NB B 45 | 42 | 87 (110 760
6 |8 il 41 | 44 |85 |70 780
[AEER-E 43 | 44 | 87 |90 780
8 |s1t) mE 43 |41 | 84 |50 790
o [HE &b 45 | 42 |87 |80 790
10|58 = 50 | 41 | 91 [100 810
11 328 0% 49 | 44 | 93 (120 810
12 5A Z= 46 | 45 |91 |80 830
13 70 farh 48 | 47 95 120 830
14 |63 8= 43 |49 |92 |80 840
156 AH = 48 | 45 | 93 |90 840
16 5 ®E 44 | 52 | 96 (120 840
17 1t 3% 50 | 45 | 95 (100 850
18 s fiF 50 | 46 | 96 (110 850
10 &B HE 50 | 43 | 93 | 70 860
20 =B & 48 | 48 96 100 860
21 BR_58 48 | 51 | 99 (120 870
22 | h& Bk 45 | 49 94 |60 880
23 8B EA 49 | 49 98 100 880
24 | FEH 55— 50 | 51 101 [11.0 900
25 WK &% 58 | 45 103 110 920
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NS 49 145 94 170|770
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B BE 46 | 62 | 98 160 820

G wX 45 | 66 101 [180 |83.0
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TF BH 51 | 63 104 150 |89.0
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